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PAPER II
SOCIOLOGY

Note : This paper contains hundred (100) objective type questions of two (2) marks each.
All questions are compulsory.

1. Who among the following denied the objective social science and believed that theory
is inseparable from socialist practice ?
(1) Friedrich Engels (2) Karl Marx
(3) Louis Althusser (4) Michel Foucault
2. The system which orders and structures the behaviour of individuals by means of
their normative character is labelled as
(1) An institution (2) A social structure
(83) A social system (4) A culture
3. The organized forms of behaviour and their repetition is known as
(1) Custom (2) Value
(3) Culture (4) Cultural lag
4. Who among the following has considered culture as essentially a response to human
society ?
(1) Redfield (2) Radcliffe-Brown
(3) Malinowski (4) Herskovits
5. Which of the following is not true regarding association ?

(1) A group of people
(2) The people must be organised
(3) They must have a common purpose of a specific nature to pursue

(4) Association does have inbuilt purpose

6. Who has propounded the concepts of ‘status and role’ ?
(1) R.K. Merton (2) Max Weber
(3) R. Linton (4) Henry Maine
7. A medico student passes M.B.B.S. Then he becomes a resident doctor, thereafter an

M.S. (Master of Surgery) and at last a Pool Officer. These statuses achieved by a
person together are called

(1) Many statuses (2)  Multiple roles
(3) Multiple statuses (4) Status sequence
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AR o TS &I 3T Il FRIGMT hl fohe &G H AT ST & ?

(1) 9 (2) "I

(3) EEPM (4) WTEpidh TYE

frfafa # 9 forae wpia 1 aaa: AT 9HTS o Jid T TR o &9 § AT & 2
(1) Thes (2) SfFaw-sited

(3) Bfemiehr (4) FEpIfH

giufa & dey d Ffaied 8 @ $i9-91 98 787 8 ?

(1) ST 1 T 998

(2) Wl <l AT TS BT =Y

(3) 3T U M T o AT Teh Tafirse Wepfa w1 Ueh AT SRAISH 379 EH1 @T18T
(4) wfufa ¥ savas &9 @ 1@:Fd y=em g 3
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(1) 3t gfefar (2) wEA qEepd

(3) wga wieafar (4) vfeafa gspn
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10.

11.

12.

What is social role ?

(i) Dynamic aspect of status

(ii) Performance of a status

(i1i) Some activities associated with a person’s status
(iv) Expected actions by virtue of occupying a status
Choose the correct answer from the code given below :

Code :
(1) (), (i1) and (iii) (2) (1), (111) and Gv)
(3) (1), (1i1) and (iv) (4) (1), (ii) and (iv)

Who has suggested that discrepancies in status, especially when acute, are
associated with political radicalism ?

(1) Merton (2) Linton (3) Lenski (4) Weber

Who held the view that group size, homogeneity and segregation affect group
behaviour ?

(1) Peter M. Blau (2) Kingsley Davis
(3) R.K. Merton (4) G.C. Homans

Match List I with List IT and choose the correct answer from the code given below.

List I List I1

(Thinkers) (Classification of groups)
(a) Cooley (1) Gemeinschaft and Gesellschaft
(b) Tonnies (ii) Primary and Secondary
(c) Park and Burgess (iii) Genetic and Congregate
(d) Giddings (iv) Territorial and Non-territorial

(v)  Positive and Negative
Code:

(a) (b) (c) (d)
(1 @ (iii) (ii) (v)
(2) @ (ii) (iii) (iv)
(3) (i) (1) (iv) (iii)
(4)  (iv) (iii) ) (1)
Who among the following is the author of “The Little Community’ ?

(1) H.S. Maine (2) S.C.Dube
(3) McKim Marriott (4) R. Redfield
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8.  TWIh fHeRT w2
() wfeafa s faeiia g8
(i) us gfedfa =1 wE-feare
(iii) T ARk h IEATT ¥ I $S HRIHANT
(iv) wfefa s e s o Ard srufea wrargat

= fou mu e ¥ | wE I A g

e :

(1) @), (ii) 3R (iii) (2) (i), (iii) 3 (iv)
(3) (@), (iii) 3 ({Qv) 4) (), (i) 3R (iv)

9.  foram gamn 2 & ufeafa & eremfaad, fotives s 3 ik &, aofifaes s afadere & gt
&I € 2

(1) =& (2) T (3) Tl (4) X
10.  formem a8 #a o foh HYg &1 TR, TESARAT 3T FYAHA HYE % Ha8R T THE SAd 3 ?
(1) . (2) Trwa S
(3) AR, WA (4) S g
11. gt Il = 11 o oy gafara hifre ot gieat & e fow e e & @ w@ s a6 g |
il = 11
(feremean) (gt =t awftenton)
(a) FA (i) TSR T TSR
(b) s (i) wafe wa fgdies
(c) Uk W FE (iil) 3Tafs Ta AT
(@ fifgm (iv) sefares wd srmefies

(v) THIIcHS Ud ThNIcHS
<< :
(a) (b) (o) (d)
1) @ (iii) (ii) (v)
2 @ (ii) (iii) (iv)
(3) (1) @{) (iv) (1i1)
4) (@v) (iii) v) (1)

12. fr=fafea & & 9 F fafea w6 & o § 2
(1) Twa.Twg. w= 2) wH. g
(3) ffm Afe (4) <. iEhies
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13.

14.

15.

16.

17.

Who made a distinction between magic and religion ?
(1) Auguste Comte (2) Max Weber
(3) J.G. Frazer (4) A.R. Radcliffe-Brown

Which are the agencies of socialization ?
(i) Family

(i1) Peer group

(iii) School

(iv) Crowd

Choose the correct answer from the code given below :

Code :

(1) (1), (ii) and (iii) (2) (b, (iid) and (iv)
(3) (), (iii) and (iv) (4) (1), (1) and (iv)

The more general processes through which culture is transmitted through adult
peers and media of communication etc. is known as

(1) Primary socialization (2) Secondary socialization

(3) Re-socialization (4) De-socialization

In his theory of socialization, who has focussed on development of social skills and
linguistic communication through which social and physical environment are
interpreted ?

(1) Bernstein (2) Piaget (3) Freud (4) Durkheim

In the context of Socialization, match the List I with List II and choose the correct
answer from the code given below.

List I List I
(Concepts) (Social Scientists)
(a) Cognitive development (i) Freud

(b) Acquisition of moral and personal identity (ii) Durkheim

(c) Self concept and social identity (iii) Piaget
(d) Internalization of moral categories (iv) Weber

(v) Mead
Code:

(a) (b) (e) (d)
1 @ (i1) (iii) (iv)
(2) Gi) (iv) @) (iii)
(3) @Gi) @ (v) (ii)
(4) Gv) (i) (ii) (i)
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13.

14.

15.

16.

17.

fopary g 3 et % e Farivg e 2

(1) ATTEd hird (2) TeE AW

(3) .M. HeR (4) TR, EfFam-siz
fafafad @ @ -8 TSR & ST 8 2

(i) UNErR

(i) THEqg

(iii) ferermer

(iv) g

= fou U e ¥ | T I H g

E T

(1) @), (ii) 3 (iii) (2) (i), (iii) 3 (iv)
(3) (@), (iii) 3 (iv) 4) (), (i) 3 (iv)

3 31fereh T WishaTe, Reh g0 TER{d a9k THEHg 3R H9R 311f¢ o HIeW § Haid gl
g, fpm @ o S STt 8 2

(1) STTHe THTSHTT 2) fedias gamiem

(3) YAHHTSHIRIOT (4) fa-ommieRT

THTSTRT o 70 g # forer AT SISl 3TR WSS HaR o foehm T &M shimga foha
2 o mreem © o o7t sifaes aftas =1 fe=m fopem ST 2 2

(1) sH&H (2 frEm (3) WiTs (4) g@iEH

TSRl < Tl H e Il Tl 11 % a1 gaford it 3 = fou T e ® & T8t I &l
MY |

Tt 1 = 11
(sraErmuTTd) (TSIt
(a) GIHTHS foprE (i) wE
(b) Afcew wa =aftRTa dg== * IUTH (i) gatem
(c) 3TTcH HehoUdT Ud TSR STFEaT (iii) foms
(d) e aftm =1 s (iv) ¢
(v) dis

e :

(a) (b) (c) (d)
1 W (i1) (iii) (iv)
(2) (D) (iv) i) (iii)
(3) (i) @ (v) (i1)
(4)  (iv) (iii) (ii) (1)
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18.

19.

20.

21.

22.

23.

Who among the following has said that the market situation is an important source
of class formation ?

(1) Marx
(2) Weber
(3) Tumin

(4) Althusser

Who among the following has observed that all societies possess ‘selection agencies’

in the context of social mobility ?
(1) P.M. Blau

(2) S.M. Miller

(3) R. Bendix

(4) P.A. Sorokin

Who among the following says that most important positions are “filled by the most

qualified persons” ?

(1) Tumin

(2) Bendix and Lipset
(3) Davis and Moore
(4) Lenski

Who among the following has contended that “social mobility promotes talent and

acts as a safety valve” ?
(1) Bendix (2) Lipset
(3) Tumin (4) Sorokin

Who has said that during social transformation, human history has witnessed
21 cultures, which repeatedly occurred in all societies ?

(1) Oswald Spengler (2)  Arnold Toynbee
(3) Pitirim Sorokin (4) Herbert Spencer

Who has contended that Sanskritization process has promoted the ‘sacred’ outlook
and westernization process has promoted the secular outlook ?

(1) Yogendra Singh (2) M.S.A.Rao
(3) S.C. Dube (4) M.N. Srinivas
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18.

19.

20.

21.

22.

23.

frafafga & & foraa et 2 o6 IR feufa ot = 1 v AEwgl &id 2 2
(1) wreg
(2) T,

(3)
(4) YT

Frafafga @ @ forem a1 8 o6 amfoes nifasfiarar & deed # asft gostt & e etfieReor g
g7

(1) W.uH. s>

(2) wE.TH. fer

(3) SR, dfswm

(4) dru. gRfe

Ffafad § 9 foreeh a8 Fe 3 Toh ao8 meaqyl T “Ted I SR grn W S
g7

(1) ==

(2) dfewa v fauge

(3) fm

(4) ool

ffafea & & fore 7o foon 2 fob “amfors Tfasficrar gfadm =1 g ot & 3R T gean

e o T H HMH B 2 ?

(1) dfeaa (2) fauwEe

(3) = (4) R

fore et 8 Top amTfores ®UTaRwr 6t @ty # wHeE 3fag® 3 21 TWBiaAi i <@1 & S At
FaTST # SRR Tfed §UE 2

(1) 3THaes TR (2) 3Hleg e

(3) fuefm arifer (4) T T

Tore T foam B Top TEahdientor Wisham = “afe’ geeehiv ol Seran o 2 ST reaeiientor Jisha

I yrdfaer gfeesnior =1 sgran feam 8 2
(1) =g fag (2) TWUET TE
(3) wa.H. 3o (4) .. e
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24.

25.

26.

27.

28.

Who among the following accepted the Darwinian view that the process of natural
selection, “survival of the fittest”, occurred in the social world ?

(1) Herbert Spencer
(2) Auguste Comte
(3) Emile Durkheim
(4) Karl Marx

Who among the following said the society has passed through three stages — the
theological, metaphysical and positivistic — during the process of transformation ?

(1) Herbert Spencer
(2) Emile Durkheim
(3) Auguste Comte
(4) Georg Simmel

The most significant feature of structuralism is that it aims to discover universal
elements in human society. In this line of thinking, which element has been
emphasized by Levi-Strauss ?

(1) Human mind itself
(2) Human relations
(3) Psychological reduction

(4) Human evolution

Who is of the opinion that social structure is basically formed by ‘person to person’
relationships ?

(1) A.R. Radcliffe-Brown (2) S.F.Nadel
(3) C. Levi-Strauss (4) G.P. Murdock

Who has argued that a theoretical science of human society is possible like a natural
science ?

(1) A.R. Radcliffe-Brown
(2) E.E. Evans-Pritchard
(3) A.M. Carr-Saunders
(4) H.A. Hodges
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24.

25.

26.

27.

28.

frafafaa & & forem eifdardt wa =t w@ier frn 6 wrpfass =@ 6t ufskan, “awraw 6t
ITSHear”, IR STd | Hfed 8% ?

(1) B T

(2) SANTE shiFd

(3) 3HISS gEIsH

(4) e "=

frefafea & @ o a1 @ 6 s 1 yfsken 1 sy & wEme 9 Sl - Svaa,
T 3R JeAEaTiedn — & 1| & ol 8 ?

(1) B W

(2) 3ATEA gEIH

(3) IATTE i

(4) < fema

TLEATETE 6l qa8 I foivar o8 8 fob a8 amda gars ° ardain awal i @ i
TITE AT 8 | | % 39 YR § oidl-w2rE g fohd e W i fgam man R 2
(1) uHEE T @ &

(2) AHHT FEGi

(3) WIS STa=TH

(4) U g

Tererent @18 tfia 7 foh TSt e Hora: Safh & =k’ & gedl & grr forferd &t 2 2
(1) T3, ElFas-sis (2) TH.US. AedA

(3) . wd-wm (4) <N.A. meiw

fore o8 o oo @ Tob Wty | 1 Sgifae fasie, Smehfaeh s & @i & 9va 7 ?
(1) TR, Eas-srs

(2) 3.3 saH-fig=ms

(3) T.uH. HR-HEH

(4) TIT B
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29.

30.

31.

32.

33.

Who among the following argued that culture functions to meet the needs of
individuals more than that of society as a whole ?

(1) Malinowski

(2) Radcliffe-Brown

(3) Durkheim

(4) Ogburn

According to Durkheim, there are many social facts in a given society but they do not
present themselves in crystallized forms. What is the term Durkheim used for
them ?

(1) Pathological condition
(2) Social currents

(3) Collective conscience
(4) Dynamic density

Among the following, whose functional theory is based on social, cultural and
personality systems ?

(1) Merton
(2) Simmel
(3) Alexander
(4) Parsons

Among the following, who stated that any object that can be subjected to
structural-functional analysis must “represent a standardized’ (patterned and
repetitive) item” ?

(1) T. Parsons

(2) R.K. Merton

(3) E. Durkheim

(4) Jeffrey C. Alexander

Symbolic interactionism is a sociological perspective that places emphasis on
(1) Interactions between social and non-social entities

(2) Macro-level social interaction

(3) Micro-level social interaction

(4) Interactions at middle range level
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29.

30.

31.

32.

33.

ffafea & & forae ek oo for owpla a9y &9 § 9 i a1 § w6l Tevasharsti
1 gfd 31feeh et g ?

(1) Afeareh
2) IEfFas-sis

(3) g@iEw
(4) SATTeH

TEEH o ITIUR T fU T 90 § &3 YHR o HMINH q24 § oAfehd 9 0 39 I
SeTehTcHe €U H A& JA id @ | Ik [OTC GEIeH A fohd U (W165) 1 ITAM fopart ?

(1) faepa feafa

(2) e uwnd

(3) TmfEeh AT
(4) Tfasfier wFca

frfafiad o & foraent wepricnes fagra wmforen, wreepie 3 safthed sqereaTati W SATHTiRd
27

(1) =&

(2) fma

(3) TR

(4) wEHH

freafefea ® 9 fohem o8 &aT 2 b B axq foreht StaTersh-Sehricreh faweryor foham ST wehan
®, 30 “Toh urehihd (SfaEUd Td GAIh) We (3M15eH) 1 S fREur e =ey ?

(1) & 9=

(2) . 7S

(3) %.g@iw
(4) SR €. Teiesiet

TefehTcHeh 37d:fshaTaTe Ueh THT TTeRe i uities 8 S fohe W SR a1 ® 2
(1) oS R TR-Tmrfse wxdi o e 7 fhamd

(2) TEd-TT qHEIN 37a: TR

(3) gEu-Tad amaTfores 37a:foka

(4) T Ioft TR W 3 fshamd
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34.

35.

36.

37.

38.

Which of the following is applicable to Pareto’s logical action ?
(1) Subjectively logical action

(2) Objectively logical action

(3) Both subjectively and objectively logical actions

(4) Actions leading nowhere

Who moved exclusively in a much more micro-oriented direction in explaining
conflict perspective than the macro-conflict theory of others ?

(1) R. Collins
(2) Karl Marx
(83) L.A. Coser
(4) R. Dahrendorf

Whose conflict theory has more in common with structural-functionalism than with
Marxian views on conflict and change ?

(1) L.A. Coser
(2) R. Collins
(3) R. Dahrendorf
(4) G. Simmel

Who is critical of structural-functionalists and labels his approach as radical
micro-sociology ?

(1) L.A. Coser

(2) R. Collins

(3) E. Goffman
(4) R.Dahrendorf

Who has stated that Sociology is ‘the science with most methods and the fewest
results’ ?

(1) Emile Durkheim
(2) Henri Poincare
(3) T.B. Bottomore
(4) William J. Goode
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34.

35.

36.

37.

38.

frafafed 8 @ S e 6t arfdhes e W arg grar 2 2

(1) =afrfass difshes fspam

(2) aEqfss drfehes foka

(3) =ATRISS N TEqfiss gt drfeheh fopamd

(4) U fopard S el & < St

i Ty qitie i AT FH § g & Jeq-wey fagia B g § ifies gen-sge fosn §
T ¥ M W ?

(1) ¥R HifTH

(2) e "EE

(3) TA.T. B

(4) IR AT

Formem T foga dud 3R afgdd W aredardt Afvmal i qa § SEEes-IREEE 8
arferen fireran 8 2

(1) TA.T B

(2) IR, HifaH

(3) oM. Teerh

(4) <. faua

HH FLEHTCH-JhEaTeA hl AT d & AR U gfeehivr I e REd-ard
en-guTeTe fefd i g ?

(1) TET B

(2) IR, HifaH

(3) 3. THAA

(4) IR, SEHSTH

Forma TmTSIeTE 1 “arfeshar ugfaat SR steuan itmEt gt fawe et R 2

(1) 3ATS gEisH

(2) T dIgThR

(3) 2. afemRr

(4) faferem 1. T2
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39.

40.

41.

42,

43.

44.

“Social phenomenon are social facts that have distinctive social characteristics and
determinants.”

Who made this statement ?
(1) Max Weber

(2) Auguste Comte

(3) Emile Durkheim

(4) Herbert Spencer

Who has said, “Social theory thrives and survives best when it is engaged with
empirical research and/or public issues” ?

(1) Turner Bryan

(2) A.R. Radcliffe-Brown
(3) Talcott Parsons

(4) B. Malinowski

Hermeneutics deals with

(1) Empirical basis of sociological research

(2) Philosophical basis of sociological research
(3) Statistical basis of sociological research
(4) None of the above

Identification of respondents who in turn refer researchers to other respondents and
provide a means to access relatively invisible and vulnerable social groups, is known
as

(1) Judgment sampling

(2) Purposive sampling

(3) Snowball sampling

(4) Convenience sampling

The difference between the ‘true’ value of a characteristic within a population and
the value estimated from a sample of that population is known as

(1) Standard error

(2) Sampling error

(3) Systematic error

(4) Measurement error

To study people and their behaviour in their natural settings through direct, focused
and non-verbal techniques is called

(1) Unstructured interview (2) Questionnaire
(83) Observation (4) Schedule
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39.

40.

41.

42.

43.

44.

“ararfsres afterer i qea gid 7 T fafime amrfoes foivand it fufes g £ 17 =8
e fopaa feam 2

(1) B AN

(2) AT HIE

(3) 3HIEA g@IEH

(4) T W

frEn wa1 7, “amiie faga d9 TEte alih ¥ hadl-haal AR Sifad S Wal & 99 98
SAII STEYUM VAT e+ qei & 81 g7 &1 2

(1) TRFEA

(2) TR, ElFaasm-aims

(3) Zfctehic Ur—|

(4) . Bfcriawh

sreedtigTer (glgfews) foroa TEfa g 2

(1) FHSE My &1 AgUTS MR

(2) THTSIRST 3N T AT AR

(3) THTSRIET Y 6T AIFCThR IR

(4) 30 H T Hi T

UH ITLEIAIST <hl U8 il S ded=al INEET i 3T STEAIST o U8 9o & 37T {uey
Y ¥ 3GY T HAd-HelG R HHING TRl q Tga 1 T A6 390eY hd 6, 39 o8
®Y W T STCT R ?

(1) fffa freel

(2) W FeRA

(3) Tem iig (FHieie) freei

(4)  glewrgan fraei

Teh THEAT o Hidl Teh @8I0 & ‘“arEdfaeh A 3 30 W@l o fidt Ufdest & 3ehford q
o s o 3T i TohT T T SET ST & ?

(1) ¥ I

(2) Tl e

(3) wHafeym Ffe

(4) w9 IR

AT 3T Ik TG 1 Ik TTh(ceh NI H Ted&l, Hehfrgd IR ITRTeqeh dehriehi o HIEIH

q I HTAT F1 HEATl 2?
(1) TEfd TeTehR (2) e

(3) e (4) =R
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45.

46.

47.

48.

49.

One of the first studies based on life histories was ‘The Polish Peasant in Europe
and America’. Who is/are the author(s) of the said book ?

(1) Dolby-Stahl
(2) Du Boulay
(3) H. Freeman

(4) Thomas and Znaniecki

Reliability is a method which

(i) Involves dependability of data
(i1) Involves dependability of test
(iii) Involves inconsistency

(iv) Gives the same result if repeated

Choose the correct answer from the code given below :

Code:

(1) (), (ii) and (iii) (2) (i), (di1) and (iv)

(3) (), (i1) and (iv) (4) (1), (ii1) and (iv)
Which of the following can be applied only to quantitative variables ?
(1) Correlation (2) Chi-square (xz)

(83) Association (4) Yule’'sQ

Which of the following averages can be used for analysis when both ends of a
frequency table are open ?

(1) Mean
(i1) Median
(iil)) Mode

(iv) Geometric Mean

Choose the correct answer from the code given below :
Code :

(1) (@) and (i)

(2) (i) and (iv)

(3) (ii) and (iii)

(4) (i) and (iv)

Which test of significance can be used when one variable is qualitative and another
is quantitative ?

(1) T-test

(2) Chi-square

(3) Correlation coefficient

(4) Variance
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45.

46.

47.

48.

49.

Sfe-gel T i T8 Ygdt & Al 6§ U, 4 wifersr fisie 39 W wwe sfeEEr on |
I TEdh % I @ /8 ?

(1) <fesi-Rga

(2) g u=d

(3) Ta. HEA

(4) oTHE g SR

rvagfiaar @ fafr 2 oo e ffga & 2

(i) 3Aferel 1 fsdar

(i) wdetor S fsdar

(iii) ST

(Gv) afe Srgwan e a1 a8 gfomy fierd §

= feu T e § @ FE W F G

%< :

1) @), (i) 3 Gii) (2) (i), (iii) 3R (iv)
(3) (1), (i) 3R (iv) (4) (@), (i) 3 (iv)
frferfea & @ SH-|1 shaa IRETOTeHS T W AN R ST That 7 ?
(1) wedsy 2) wEat (d)

(3) drgwd (4) A =1+ (Q)

Se STgfa wrelt o e R gat @, @ fawewe & fou frafafea & 8 fea ofea &1 swam
forn S gpaT B 2

(i) e

(i) wfeen

(iii) &H

(iv) ST aeg

= fou U e ¥ | wE IH A g

<< :

(1) @) 3R G

(2) (i) 3 (iv)

(3) (ii) 3 (iii)

(4)  (iii) 3R (iv)

SE T = UM &1 3TN GO THHTUeneh @, a1 fohe Amefehd-adiersT 1 ST fepam ST wehat
27

(1) -gdeon

@ Fwa

(3) HggsY Ul

(4) T8
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Read the passage given below and answer the following questions (Question
nos. 50 — 53) based on the understanding of the passage.

Supporters of participant observation have argued that, compared to other research
techniques, it is least likely to lead to the sociologist imposing his reality on the social
world he seeks to understand. It, therefore, provides the best means of obtaining a valid
picture of social reality. With a structured interview, a predetermined set of questions
which the interviewee is requested to answer — or a mailed questionnaire : a set of printed
questions to which the respondent is asked to provide written answers — the sociologist
has already decided what is important. With present questions he imposes his framework
and priorities on those he wishes to study. By assuming the questions are relevant to his
respondents, he has already made many assumptions about their social world. Although
the participant observer begins his work with some preconceived ideas based on book-view,
he at least has the opportunity to directly observe the social world. Intensive observations
over a period of time provided William F. Whyte with a picture of what was important in
the lives of the Italian Americans he studied. Without this exposure to their daily routine
he would have remained ignorant of many other priorities. Had he relied solely on
interviews, this ignorance would have prevented him from asking important and relevant
questions.

50. The opening line of the passage indicates that participant observation is
(1) An objective method of data collection
(2) The best method of data collection
(3) In a way, more objective than other methods of data collection
(4) The only acceptable method of data collection

51. As per the passage, participant observation has a clear advantage over other
methods of data collection in the sense that

(1) It is more uniform (2) It is more gratifying
(3) It yields in-depth information (4) It is more precise
52.  On the basis of his study of Italian Americans by participant observation, Whyte
wrote the book
(1) Participant Observation (2) The Italian Americans
(3) Cornerville (4) Street Corner Society

53. The essential point that makes participant observation a different method as
compared to other methods of data collection is

(1) Intensive survey

(2) Structured interviews

(3) Observing while participating
(4) Participatory research
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= fou U s w1 ufeu i SEeht Aue o oaR W FeferRaa weAt (W99 €. 50 - 53) % S
it |

TRl Y& o GHelsh qeh od @ foh gEll vy wlaferll i gemt # gHehl @wrE Aoy 7 foh wmreRmet
30 I a3 aredfoehdr AU ot S8 98 g@eq I@dar | sEfay, I8 gmiieies
ITEATIShdl T Teh A4 To UTed S o1 TAUSS T8 U hdl 8 | Fid TTRITeh R o T1, T3
s qd-Fuifa ay=r, RS areTehr o aet § 3T g T Tue i S 7 — A1 Th STk T
gfed el &1 Uk ag=ad e gl @ fafaa 3w @ & fow wa S R — wueEnEht 3 usd &
o &t form g 3 o6 R mEwul g | IaHE TRET o |19 98 39 W U TR IR WAfHehdTd
oAU 8 FrehT a8 3Te9= T ATEaT B | I8 Hicdd Hich foh 9 38 TN & & 7, 36 3T
IS STd % SR H 9gal ¥ & s gRuME o1 ot @ | JeIfY Tgurt Yefeh Jaehid gEeshivr < LR W
$® Yd-hicqd fo=mi o A1 31U HE B IRY Hd &, T ft 30k I HH-H-HH FEINH AT h!
TcIT ®Y G @Y T AT I 8 | T Siad b A9-TY T Y0 8 fafema vk, sgige @ 3T Uk
o= foen St 39 sarardt Rt o Sfem # weaqul o feRt 38 st fohan o | 3 Tt
gfd 30 I & SR 9 HE AT TAMHAT ¥ AW o9 T&d | I I8 hael HTRIchRI T aetea
o gran, O 78 AT 3% WEwaqUl Td GEd YT Bl G948 Teh ol |

50.  3IgW i WRfyes it g Tfdse ot 2 fop wewmft Jewr Fraforfea @
(1) 3Aiehgr TUgw sl seqiss fafe
(2) sferet TreEw 1 a3 fafy
(3) T allch © ATHST TUTY hl 3T TGl <hl T 3Tfeh TS
(4) AfeheT Hygul i ThAT Tlwrd fafy

51. 3GV % IR TEHF Y& ATehel TURY i 31 Ughaai <l goql | 39 gfe ¥ gouse &9 9

98 8 T
(1) g 3feres ThenH B (2) I8 Afyh qfdus 8
(3) @Y T S U Bl @ (4) ug iU g B
52. TR Y& % g SaTerd! STHRHRIT o ST LA o YR W EIE A -l Teaeh fordt ?
(1) urfefede stfesrasm 2) & gferm smftm
(3) hiRfaed (4) T HI GEEd
53. 98 JIfad fog w0 @ St wewrh Jaw wr sifeer wuEw 1 o faftmit i qom d ww fim
fafer s 8 2
(1) & gaeq

(2) Gfd FETehR
(8) HEWINTAT S 99T J&I0 T
(4) wearht sy (nifaued fod)

3-00518 IIVINMNIAVHAINMUR AR AR 21 Paper I



54.

55.

56.

57.

58.

59.

According to Alfred Schutz, Lifeworld or ‘Lebenswelt’ is
(1) A sacred world

(2) A global space

(3) An urban sprawl

(4) An intersubjective world

In their well known work, ‘The Social Construction of Reality’, Berger and
Luckmann discussed about

(1) Society as objective reality
(2) Society as subjective reality
(8) Society as both objective and subjective reality

(4) Society as neither objective nor subjective reality

In ethnomethodology, a situation where social reality is violated in order to shed
light on the methods by which people construct social reality is known as

(1) Documentary method
(2) Breaching experiment
(3) Indexicality

(4) Accounting method

Whose theoretical ideas reject the mono-causal determinism and are open-ended and
pluralistic in offering explanations ?

(1) J.Habermas (2) L. Althusser
(3) M. Foucault (4) J.C. Alexander

Who labelled the notions of ‘system’ and ‘lifeworld’ as ‘social integration’ and ‘system
integration’ ?

(1) J.Habermas (2) L. Althusser

(3) J. Alexander (4) Peter Berger

What is the correct order of types of action as emphasized by Habermas ?
(1) Communicative, Dramaturgical, Teleological and Normative
(2) Normative, Dramaturgical, Teleological and Communicative
(3) Teleological, Normative, Dramaturgical and Communicative
(4) Dramaturgical, Teleological, Normative and Communicative
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54.

55.

56.

57.

58.

59.

IEHS I h AR SHeH-STd A1 ‘TAeTaee 1 7 ?
(1) U qfed S1a
(2) TH dfvas wF

(3) TH I Hfowar
(4) Teh ITL-IATCHSS ST

1ol gufig fd, § Ao SR 3% Rued! § s 3R dohia 3 fopeeh i # fomm-fomme
fopam 2

(1) Gu, SEgss Aredfdehdl o €9 §

(2) HHN, SAThSS aRfaehal & €9 H

(3) THN, IS MR ATKSS gHT aredfaehar & &9 |

(4) U, 9 @ IS 3T 7 & SARhse aredfaswar & €9 §

Jorfa srorreft fosm & ag wfitfeafa form w9 & St st 2 foem 37 agfodt o wepmer grer < forg
GTioTeh aRfeehdl Sl Seoted fohaT ST & fS&eh g o GTTieTeh ardfarehal ot fHToT ohid
g7

(1) werEd ughd

(2) TN T YT &l T

(3) Frcwmehat

(4) rETeR fafyr

fross Agifas TR tw-FroEms fultvere w1 T#Rd § 3 Al T5a s H
Y -JaRTeh R STgAaTg 2 2

(D) . g (2) T AL

(3) TH. BH (4) <. ToEREt

forea ‘exaeen’ R SfieA-Swra’ il GRSt Sl TSR Tehishul 3T ‘sIaeen Thishu & &9
T fafea foean 2

(1) . g™ (2) UHA. Y
(3) . Teiesiet (4) HRTR

Torarg | T o T Tl W SR TG B 3eRT TEl 3TIshH 1 8§ ?
(1) eIV, A1esh fovaivuedes, JasHaTiedt 31 smesle
(2) 3TTEeh, ATehi faveivvmensh, SSHaTGT TR FEIvuras
(3) SREISHEEHT, 3Tesieh, ATeh favcumere 3t FruTeh
(4) e TogATuTTeHe, FAISHETedT, 3TTesieh 3T TFINuTsh
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60.

61.

62.

63.

64.

Match List I with List IT and choose the correct answer from the code given below.

List I List IT
(Authors) (Concepts)
(a) Anthony Giddens (1) Discourse
(b) Alfred Schutz (i1)) Logocentrism
(c) Jacques Derrida (iii) Typifications
(d) Michel Foucault (iv)  Duality of Structure
Code:

(a) (b) (c) (d)
(1 @ (i) (iii) (iv)
(2) (ii) (1) (iv) (ii)
3) (Gv) (iii) (ii) (1)
(4) (i) (iv) (i) (iii)
According to whom, surveillance is the disciplinary power and all-pervasive feature
of modern societies ?

(1) Michel Foucault (2) Anthony Giddens
(3) Thomas Luckmann (4) Erving Goffman

Whose theory focuses on the creation and reproduction of social systems that is
based on the analysis of both, structure and agents ?

(1) Anthony Giddens (2) Jurgen Habermas

(3) Ralf Dahrendorf (4) Jacques Derrida

Societies which are relatively small, non-literate, homogeneous and cohesive are
called

(1) Rural societies (2) Folk societies

(3) Urban societies (4) Industrial societies

Given below are two statements, one labelled as Assertion (A) and the other labelled

as Reason (R). Read the statements and choose the correct answer using the code

given below.

Assertion (A) : Absence of high degree of division of labour is a common feature of
all simple societies.

Reason (R): A simple society can survive without a high degree of division of
labour.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.
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60.

61.

62.

63.

64.

T Tont = 11 o &1 gAfera shifve 3Tk = fdT T e # & T&1 3T &l HT |

el =i 11
(vrEh) (sraermuTTd)
(a) ueHt firg= (1) Yer=d
(b) 3THE YA (i) RETR 3@
(c) Sperd i (ili) &9
(d) eI pent (iv) o= <l gad
E T

(@ (b (c) (d)
1 @ (ii) (i)  @{v)
(2) Gi) @) (iv) (i)
(3) (Gv)  (ii) (ii) (i)
4) Gi) (v (i) (iii)
fopaeh Srgar et snyfies gl Y srgemafies Wit it gd-sardt fagyar & 2
(1) forsiet penl (2) Tt figw
(3) oTHE cIhid (4) sfdm TrRRa

Toreen fogia 39 TS HaedT o ¥ SR TASRGd W hid & S GEAT iR Afehdatad gHi
T TG B ?

(1) o frgw (2) I geeATE

(3) TeH e (4) Spom S

S GHTS G0 &Y ¥ B, RN, THadiT 3 o 8, I8 1 hal Sl @ ?
(1) o TS (2) o 99

(8) T gH (4) 3N gas

= & o feu e &, o & u stk (A) R ot g 9 (R) B | el i dfeu of =
f2U Qe 1 TN H EE I AT |

YT (A) : I i o o1 faueH o1 31 Tefi T ga Y Uk g fowwar ®
7% (R) : Teh T U 3= hife o o0 fowe & fomn Shifad o9 @ dshar B |

e :

(1) (A) 3R (R) qHI @& & a1 (R), (A) ! Hal =41 @ |

(2) (A) IR (R)THI H&1 3, W (R), (A) ! H&1 AT T8 2 |

(3) (A)WEIE, g (R)Terd & |

(4) (AT, g (R)HEI & |
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65. Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A) : Agriculture sector is the single largest employer is the world.
Reason (R):  Agriculture is the most labour intensive activity in the world.
Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

66. “The outcaste is a by-product of the caste system. Nothing can emancipate the
outcaste except destruction of the caste system itself.” Whose statement is this ?
(1) David Hardiman (2) Kancha Ilaiah
(3) B.R. Ambedkar (4) Gail Omvedt

67. “Research is to see what everybody has also seen and then to think what no one else
has thought.” Whom does this statement apply fully ?

(1) Surajit Sinha (2) N.K. Bose
(3) M.N. Srinivas (4) David Hardiman

68. Who felt that individual freedom must not be anarchy but a creative expression of

the tradition ?
(1) A.R. Desai (2) D.P. Mukherji
(3) G.S. Ghurye (4) S.C. Bose
69. Who coined the term ‘BIMARU’ states ?
(1) M.K. Premi (2)  Ashish Bose
(3) M.N. Srinivas (4)  Yogendra Singh

70. Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A) : It is not merely equality under law that determines the status of
women in society.
Reason (R):  Traditions and customs determine the status of women in India.
Code:
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.
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65.

66.

67.

68.

69.

70.

= @ e fu e &, 5 | ue atfiker (A) ot g @ (R) 2 | el 1 afey of i
fou MU e w1 T B T W g |

e (A) : FN &7 fova o Taw 51 THha USHR T 2 |

7% (R) : HfY fova § wod 1fieh 9w gu= HRIHAT 2 |

E T

(1) (A) 3R (R) THI @& & a1 (R), (A) i T& =R 2 |
(2) (A) 3R (R) gHI &&l &, g (R), (A) S T& =T 8 2 |
(3) (A) @ %, g (R) T4 ¢ |

(4) (A)THd 8, g (R) T 2 |

“Sif Sfeseha i SHeeeT 1 393G & | Sd FGEAT 6 & o % SAkNE Fo o Sfd
Sfgsehd & G &l L Tehal |” T8 FoherehT o B 2

(1) sfae wifeémm (2) T St

(3) 3R, AMEEH (4) T A

“GumgtETifR R If @t iR mdem e R I g \”
Ig HUA Tl T I T AT BT B ?

(1) geia o= (2) W.H. a|

(3) w.w. A (4) sfus wfeim

foraa srqwa fopan fop SafehTa Tacaar Tawash &9 O STSThdl &1 a1 TfeT 31fug e <ht
TIHTCHe SATSARE BT =MfeT ?

(1) TU.SR. EE 2) . gasi
(3) Shua. g (4) wH. 9"
fope ug (3eg) SHTE e ?

(1) .. I (2) 3y &g
(8) .. Hfiftam (4) I f=

= T e fou T E, S € T stfiehe (A) 8 3R gEU @ (R) 2 | el Wi diey 3R =

fau TTu e 1 TN W T W FHT |

SFIT (A) : I8 had HII oh A FHEAT Ta1 & S THS H HigennsTi i qfeufd 1 o
w7 |

7% (R) : T 3T YeTd Wid § Afgenatt o gfedtd s faior s §

<< :

(1) (A) 3R (R) g @&t & a1 (R), (A) il T = ¢ |

(2) (A) 3R (R) TH 78 2, 7g (R), (A) i T = a1 7 |

(3) (A)EA g, 7g (R) T 2 |

(4) (AT 7, g (R) &S 2 |
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71.

72.

73.

74.

75.

76.

717.

Which is the least economically inequitable (as per the measure of inequitability)
metropolitan city in India ?

(1) Howrah (2) Mumbai
(3) Bengaluru (4) Ludhiana

Which one of the following is known as the 7" millennium development goal ?
(1) Sustainable development

(2) Ecological development

(3) Women’s development

(4) Industrial development

As per Census 2011, which Indian State has the highest growth rate of population
among the following ?

(1) Punjab (2) Haryana
(83) Maharashtra (4) Gujarat

Who among the following has propounded the ‘Differential Association Theory’ of
crime ?

(1) A. Cohen (2) Howard Becker

(3) R.K. Merton (4) E.H. Sutherland

Who was of the view that “It was in fact not the immigrant but the American-born
white who was largely responsible for the high crime rate” ?

(1) Hermann Mannheim (2) Gordon Rose
(3) E.H. Sutherland (4) William F. Whyte

Who has explained corruption as “misuse of authority as a result of consideration of
personal gain which need not be monetary” ?

(1) Kautilya

(2) Rajadhyaksha
(3) D.G. Bailey
(4) K. Santhanam

According to whom did modernization in India start with westernization resulting in
the changes brought about in Indian society and culture as a result of over 150 years
of British rule ?

(1) G.S. Ghurye

(2) M.N. Srinivas
(3) A.R. Desai

(4)  Yogendra Singh
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71.

72.

73.

74.

75.

76.

717.

IRd | HIH-T1 FgHR 37l €9 & qo 0 TGS arel (STEHMdr & HI9H o FTER) 8 ?

(1) @Eel (2) w3

(3) dgE (4) Qi

fmfofiga o @ ford graat gganfee faemma ceg wg1 Sar 2 2

(1) wuRei faew

(2) urifeafaes foamm

(3) wfgan o

(4) 3enfies faewm

SFRTOMAT — 2011 % FFER Fefaiad § & form aRdi TsF 6t St i Jig-at Jaifes 2 ?
(1) Yo (2) sf@mon

(3) U™ (4) TS

AY & ‘faves gg=d & faga o1 gfaured fefafaa 8 9 foraa fran 2 2
(1) T A (2) TEE R

(3) IRk HA (4) 3.79. el

foroept wa o fob “axqa: I8 sy TE 1fuq iRt § YT goT vAd o S I AUY W h
foTT geura: STrert o1 7 2

(1) =& #e| (2) e A

(3) 3.0 WEITE (4) faferm ws. are

T g i “safrra oy, S foh 3TaeEes ' § Hifes 7 81, W fomm i % gimmesy
TR o GEIANT o &9 H SATEA 6l 3 ?

(1) wifeea

(2) TSN

(3) @M. St

(4) <. GYHH

ToRHeh TTER WRA § 150 a8 & Af4eh Tofest e o IRUMHEE®Y WRA™ H9TS a9 §Ehid §
Y NG o T Y TR0 o T Y ehal hl IYEITT g3 ?

(1) Shug. g

(2) T, fifEm

(3) T.IIR. HE

(4) I fog
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78.

79.

80.

81.

82.

83.

What were the problems of nation-building for a newly formed independent India ?
(i) National unity encompassing diversity

(i1)) Challenge of maintaining secularism

(i1i)) Meeting problems of disabled people

(iv) Integration of the Princely States into the Indian Union

(v) Drawing of internal linguistic boundaries to meet the aspirations of people
Choose the correct answer from the code given below :

Code:

(1) @), (i), (qid), (v), (v) (2) (@), Gi), (v)

3 (@), 1), iv), (v) (4) (i), (v), (v)

Who is of the view that, ‘as forces of cultural modernization grow, there will also
simultaneously grow the feeling of national identity’ ?

(1) G.S. Ghurye (2) I.P.Desai

(3)  Yogendra Singh (4) D.P. Mukherji

Who is the author of the book “The McDonaldization of Society, (1993)” ?
(1) Anthony Giddens (2) G. Ritzer

(3) W. Rostow (4) 1. Wallerstein

The Science and Technology policy was initially formulated by Government of India
in the year

(1) 2003 (2) 2004 (3) 2005 (4) 2007

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A) : Privatization of higher education and research and neglect of the
public system of higher education has only enhanced the western
hegemony.

Reason (R):  Enrolment of low merit students and appointment of low paid
temporary teachers are responsible for decline in the educational
standard in India.

Code:
(1) (A)is true, but (R) is false. (2) Both (A) and (R) are true.
(3) (A)is false, but (R) is true. (4) Both (A) and (R) are false.

Who among the following has given the concept of ‘Rural-Urban Continuum’ ?
(1) E.W. Burgess (2)  Robert Redfield
(3) A.R. Desai (4) M.N. Srinivas
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78.

79.

80.

81.

82.

83.

T T YR o gHe weg-fmfor Y e Tmend of 2

(i) Tafauar =i wHfed i g TR Tl

(i)  eHTHErd ST T o I

(iil) T:¥=F SATHAT H FHEAST HT G BT

(iv) YR 99 H YT TSl sl Tehiehlul

(v) QT 31 ST9eTel Sl QU S & e ofiaftes wmrf #md =

= feU 7T e § § TR ST Rl AT

E T

(D @), (), (id), (iv), (v) (2) @), G, (v)
3) (@), (), (@v), (v) (4) (i), (iv), (v)

foneent 7 8 b “SO-S Fiehfas snyfehienm 6l wimal sgdl & sush @ry-ary TS TgeE
&1 g oft st 2

(1) <hwm. gfa (2) e, gEE

(3) 3 firg (4) <. gt

“T AFSHTcSEAYH ATh TEMRE (1993)” J&deh & oRaeh i & ?

(1) T g 2 . figs

(3) w5y, e (4) oTE. AT

AR TR g IR ®9 A foge o7t Srenfiehi ifa fora o fasfug 6t g oft 2
(1) 2003 (2) 2004 (3) 2005 (4) 2007

= @ e fou T E, A @ ue Sifiepe (A) R o QU @ (R) B | el 1 afey o A=
fau T e 1 AT T IW FHT |

3fYHYT (A) : IR fen qon SgHeE w1 Ao qon I=a e i A yoreft it ua

Y had afveHl I 961 @ |

7 (R) : %A AT dTd BT 1 AHIA AT HH I aTet SRl rerent i i
wd § e & fing & % fo7u soeert 2 |

e :

(1) (A% 7, =g (R) 79 7 | (2) (A) SR (R)THI 981 2 |

(3) (A) 7@ 7, g (R) @& 7 | (4) (A) 3R (R) QM T 2 |

fefafaa 4 @ gmfiu-sed adcas’ it sEuron feaa & 2 2

(1) 3.2y, wig (2) U Ehiee

(3) TU.IR. ¢EE (4) W, e
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84.

85.

86.

Match List I with List IT and choose the correct answer from the code given below.

List I List IT
(Researchers) (Village Studied)
(a) M.N. Srinivas (1) Shamirpet
(b) A. Beteille (ii)) Rampura
(c) S.C.Dube (iii) Kishan Garhi
(d) McKim Marriott (iv) Sripuram

(v)  Khalapur
Code:
(a) (b) (c) (d)
(1) Gi) (iv) (v) (iii)
(2)  (iv) (ii) (i) (iii)
3) (i) (iv) (1) (iii)
(4)  (iv) (v) (iii) (i)

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A) : Traditionally the lower (Kamin) castes rendered certain
occupational, economic and social services to the Jajmans.

Reason (R):  The Jajmans used to pay at fixed intervals.

Code :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A)is false, but (R) is true.

(4) Both (A) and (R) are false.

Which one of the following statements about rural social stratification in India is not
correct ?

(1) Indian rural society like any other society has its stratification pattern which is
specific to it only.

(2) Inrural society an individual is normally identified with his village.
(3) Class is the chief identification mark of a person in rural society.
(4) The village social stratification is synonymous with castes in the village.
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84. I I T 11 |1 guferd Hifg oK F= fou e e 4 @ =& I 1 ghw |

(a)
(b)
(c)
(d)

e :

(D
(2)
(3)
(4)

el =it 11
(STreraT) (aremam fera T Tie)
. T, sfifam () wfue
T. 9% (i) THYQ
LRI (i) ferer Tt
aferm Afere (v) sfigw
(v) W@l

(a) (b) (c) (d)
(ii) (iv) (v) (iii)
(iv) (b @) (iii)
(ii) (iv) (i) (iii)
iv) (&) (iii) @)

85. = & wer fqu u &, o @ wh srfieped (A) R 3 gEU @ (R) B | el 1 ufen it =
feu MU e 1 FET B TR W FAC |

SYHYT (A) : TG €9 ¥ e (FHH) il SSmE o $8 SAa|iRes, s 3R

AT Yamd 24 9 |

7% (R) : SIS 378 T Hd 90T STaUd W YITdE Hd 9 |

<< :

(D
(2)
3)
(4)

(A) 3R (R) gF1 &8 &, g (R), (A) I Tl =ame T8 2 |
(A) 3R (R) GHI &8t 2 @ (R), (A) 1 9&1 AT 2 |

(A) Ted 8, =g (R) &1 7 |

(A) 3R (R) TFI 79 7 |

86.  WRd H UTHIUT THATISI TX-loamd & a1 H $HIH-H1 HeH TE g7 & ?

(D

(2)
3)
4)

Toreft 1= Tu <hl €1 Wifd WG o T GHIS T 379 T Rl T-fOE g Sl shad
356 e faferse ® |

IO FHTS H ST SR ohl UgeE 3Eeh Tid 9 gl B |
yreftor werSt § et et safts o1 qed vgeE e R
greior grETies S-foram wia | Ssfaat 1 w@ig B |
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87.

88.

89.

90.

91.

Which statement, as given by Sorokin, is correct ?

(1) The village and the city are interrelated communities with a strong bond of
interdependence.

(2) The village and city are parallel systems and they can never meet.

(83) The village and the city systems gradually move towards each other and
ultimately merge into one.

(4) 'The village and the city systems gradually move away from each other and
ultimately the bond of interdependence is jeopardized.

Who has pointed out that the State’s prolonged interest in protecting labour was
actually harming the Trade Union Movement ?

(1) Sharit K. Bhowmik
(2) E.A. Ramaswamy

(83) C.S.Venkata Ratnam
(4) N.R. Sheth

Who has given the idea of rationality which gave impetus to the study of
organizational structure of industries ?

(1) E. Durkheim
(2) Karl Marx

(3) Georg Simmel
(4) Max Weber

On which date did the UN General Assembly adopt the 2030 Development Agenda
titled, “Transforming Our World : The 2030 Agenda for Sustainable Development” ?

(1) 26™ June, 2015

(2) 25 September, 2015
(3) 19" July, 2014

(4) 1%t January, 2015

What are the three concentric circles depicted in Wallenstein’s World System
Theory ?

(1) Core, semi-periphery and periphery
(2) Core, periphery and edges

(3) Centre, semi-edges and edges

(4) Centre, semi-periphery and periphery
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87.

88.

89.

90.

91.

ArifeR gr feam e ST axhe Tgt 8 ?

(1) g 3R e TER Folg THEH & R Teqt-feiar 1 #ied a9 2 |

(2) T 3 T THHTR FawTd 8 3R 7 g1 o1 hfl A &1 &1 Tehal B |

(3) Tid 3N B FHHR FFEATT & ST I I ThH-GH I T Fedl @ 3N FAdd: Th §
IEGIERIES IR

(4) T 3R el =Eead ¥H: A THGE H YAE F A 7 IR Ifad: TER-fe
(ST T &9 TR | I8 1T 7 |

Frafafaa & @ frmdht 3fr 2 6 wfterl =1 s=ma w0 Tt i deefors Ifiwl awqa: sm
T ($8 IE) 3AeieH & T gfehie of ?

(1) ifd . Wifies

(2) 3.U. THEETH

(3) Hi.ud. et T

(4) TA.3R. I3

gfrerehar, a8 3T i TSATHS T & A ! dgran fUer, w1 foar frafafea &
g fortep gr foam mam o ?

(1) 3. 3@EA

(2) et wTRE

(3) ISt fawd

(4) HFE I

TIYH TSZ HEMWT g “TEHIHT AR g8 : § 2030 Tl B TG STqie ek &
2030 fareprE weier F=fvfaa o @ fora ari@ =t arfier fomam mam 2

(1) 263, 2015
(2) 25 faamr, 2015
(3) 19 9T, 2014
(4) 1SHad, 2015

Ficiaergd o Afveass el fagra § frafafaa § @ o €9 Tehfa gai &1 Seo@ & 2
(1) F&, Fbaify i gy

(2) T&F, 9ify it &R

(3) g, AR I AR

(4) g, rd-ufifer s ufdfy
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92.

93.

94.

95.

96.

Who among the following uses ‘Capabilities approach’ to understand the degree of
human development ?

(1) A.G. Frank

(2) Samir Amin

(3) Amartya Sen
(4) Gunnar Myrdal

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A) : The Gandhian model of development is not suitable in our country in
the existing socio-economic and political situation.

Reason (R): It talks about development through cottage and village industries.

Code:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

The process whereby the proportion of children in the population decreases and
those of the old persons increases is known as

(1) Population progress
(2) Population decline
(3) Population expansion

(4) Population ageing

“The First Essay on the Principles of Population” was authored by
(1) D.V.Glass

(2) Everett. S. Lee

(3) D.J. Bogue

(4) T. Malthus

Who generated the concept of step migration ?
(1) Ravenstein

(2) E.S. Lee

(3) D.J. Bogue

(4) Zachariah
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92.

93.

94.

95.

96.

e foeemE h1 Hqr o wHge & fou efafigs 8 9 w9 “sifYemand surm” 1 9= s

87
(1
(2)
(3)
(4)

w.ofl. $en
Tk afie
I A
TaR fie™

= 31 e fou U &, TFH @ T 3tfiehed (A) ? ST gEU @ (R) 8 | el Wl dfeq 3R =
fou T e 1 T W FE IW AT |
S7HFYT (A) : Taenta o1 TieaTe] Hige gAR 9 | foem™ amiiores-3efer 3R UsHifae a3 |

39T el B |

7% (R) : 3HH HEX IR UM TN 6 wreaw | fqepre i a1a 6 T 2 |

%< :

(D)
(2)
3)
(4)

(A) 3R (R) TF1 |8 & a1 (R), (A) ! 92 e 2 |

(A) 3R (R) TF1 &8 &, T (R), (A) I &l =1 T8 2 |
(A) 98t 2, 7q (R) T9d 7 |

(A) Tdd 7, g (R) & 2 |

UHt ufshan ek GRI TG | dTeiehl ol 1T A Bl ST & 3R 9%k SRRl & dTd |
iz Bt &, 5 Fraforaa & Reeeh wam & ot 2 2

(D
(2)
3
(4)

G-
SIS B
TSI eota

“T wE T 31 ¢ TiifbueH 1Te uigeivH” % e o

(D
(2)
3)
(4)

g4, @™

Tae Tg. o
.S, 9

. AreYH

HI9Teh TaTH hl HehoudT fobdeh grI & T8 oft 2

(D
(2)
3)
4)

WA
3.0q. ot
CURE D]
SR
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97.

98.

99.

100.

Match with List I with List II and choose the correct answer from the code given
below.

List I List II
(Books) (Authors)
(a) The Feminine Mystique ) Ann Oakley
(b) The Second Sex (i1) Germaine Greer
(c) Sex, Gender and Society (i1i) Betty Friedan
(d) The Female Eunuch (iv) Simone de Beauvoir
Code:

(a) (b) (c) (d)
1 @ (iv) (iii) (ii)
(2) Gv) (i) (ii) @)
(3) Gi) (i) @) (ii)
4) @ (i1) (iv) (iii)

Which is the chronological order of the following Acts enacted in India regarding
violence against women ?

(i)  The Pre-Natal Diagnostic Techniques (PNDT) Act and Rules
(i1) The Dowry Prohibition Act

(i1i) Protection of Women from Domestic Violence Act

(iv) The Sexual Harassment of Women at the Workplace Act
Choose the correct answer from the code given below :

Code :
(1 @), (i), (ii), (iv) (2) (i), (iv), (1), (iii)
(3) (), (i), (ii), (1) (4) (i), (@), (iii), (iv)

The National Rural Health Mission (NRHM) was enacted in India in 2005 with the
primary goal of

(1) Reducing infant mortality rate and maternal mortality rate

(2) Strengthening health status of aged women

(3) Providing sanitation facilities for school girls

(4) Meeting nutritional requirements of women belonging to poor families

Who is the author of the famous book “The Lace Makers of Narsapur” which
analysed the effects of globalization on female workers in Andhra Pradesh, India ?

(1) Karin Kapadia (2) Pauline Kolenda
(3) Maria Mies (4) Sylvia Vatuk
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97.

98.

99.

100.

T Ton! = 11 o &1 gAfera shifve 3Tk = fdT T e # & 9@ 3 &l T |

el =it 11
(gwaeR) (1)
(a) g BT faedis 1) . A
(b) 7 JPve 7T (i) S isw
(c) @G, Jst vvg Garet (iii) & e
@ 7 o g7 (iv) fom < Srare

E T
(a) (b) (¢ (d)
1) @ (iv) (iii) (ii)
(2) Gv) (i) (ii) (i)
(3) (i)  (v) (i) (ii)
4 @) (ii) (v) (i)
ara # srfuftafia ufgemst & ufd smuy ¥ wefva Fafafea sifafem w1 ot s
HH-ET R ?
@) Ea-gd et aae (F.0E.3.) sfifem i fam
(i) <g ufawy srffrem
(i) =R fean & Afgensti =1 wea sAffem
(iv) HREEA W ARG &1 dH-3cfie Aferf=m

2 R T e § F = s w1 i
<< :

1 (@), (i), (iid), (iv) (2) (i), (iv), (1), (iii)
(3) (), (iii), (i), (1) (4) {1, (@), (i), (iv)

T grfior Teee fiem (.3 . wd.) a¥ 2005 § wRa # Afufafua foren man, fomem
e e 8

(1) T geg ot 3R A1q g & =S

(2) Ig AfGATSTl % e H IR AT

(3) et BETRT % forw woTs gigend suerey T

(4) T3¢9 afER 61 Aleasti i qoer el ATTwIhdTst i QU HET

T fig g ‘T o ke 1 i e wRa % 31fy yew # Afgen wial W aveiewton
& T9TE 1 forgetar foham TR o, & i S 8 ?

(1) H wurtean (2) UTef e

(3) wiRE Hiw (4) Tafcasn ags
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